Installarion + franciser langue / clavier / horloge

4ML inux Z2.0
dMLinux 22.0 with Default Display

4MLinux 23.0 with UVESA Framebuffer
4MLinux 23.0 Legacy Installer (for old PCs)

Automatic boot in 8 seconds...

4MLinux (Linux v. 4.9.52-smp on i686)

Uptime: Oh 1m 13s

Frequency (in MHz): 1467

Frequency (in GHz): 1.47

RAM Usage: 57.6MiB/994MiB - 5% =—
Swap Usage: 0B /0B - 0% =—
CPU Usage: 10%

Processes: 96 Running: 0

File systems:
/0B /OB
Networking (eth0):

Up: 0B - Down: 0B

Name PID CPU% MEM%
conky 1753 3.03 0.94
Xorg 1606 2.02 2.02
udevd 1814 0.00 0.25
sleep 1813 0.00 0.07
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4MLinux (Linux v. 4.9.52-smp on i686)

Uptime: Oh 1m 50s

Frequency (in MHz): 1467

Frequency (in GHz): 1.47

RAM Usage: 58.8MiB/994MiB - 5% =—
Swap Usage: 0B /OB - 0% ———

=) Terminal y CPU Usage: 9%
=.| lermina \ Processes: 95 Running: 0
4% Internet

f Maintenance File systems:

A . : / OB\ /OB eYeYe——|
o Multimedia Networking (eth0):

8 Miniserver .. Up: 0B - Down: OB
W Mystery Name PID CPU% MEM%

: ‘ conky 1753 5.10 0.94
I Extensions  » Xorg 1606 2.04 2.16
& 4MLinux » cbatticon-2 1624 1.02 142

X Settings I & Devices ‘ sleep 1854 0.00 0.08
£ Devel 4% Networking

& PowerOff ®. Desktop

B Reboot L} Default Apps

LockScreen < Locale ,

= Reload)WM Keyboard
- ExitywM ® Local Time

w9 @ 1 @ ¢ E & 06:50 PM

& *lang.conf

File Edit Search Options Help

# Choose your default language in X Window System

# (the supported languages are: de,en,es,fr,it,pl,pt,ru):

4MLinux (Linux v. 4.9.52-smp on i686)
LANG=fr]|

Uptime: Oh 2m 33s

Frequency (in MHz): 1467

Frequency (in GHz): 1.47

RAM Usage: 62.1MiB/994MiB - 6% —
Swap Usage: 0B /0B - 0% =——
CPU Usage: 11%

Processes: 97 Running: 0

File systems:

HoBNY B —————
Networking (eth0):

Up: 0B - Down: 0B

Name PID CPU% MEM%
conky 1753 6.00 0.94
Xorg 1606 3.00 2.25
sleep 1910 0.00 0.08
leafpad 1876 0.00 1.74
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& lang.conf
Options Help
Ctri+N |guage in X Window System
ctri+o s are: de,en,es,fr,it,pl,pt,ru):
Ctrl+S
Shift+Ctrl+S

4MLinux (Linux v. 4.9.52-smp on i686)

Shift+Ctrl+pP Uptime: Oh 2m 53s

Ctri+p Frequency (in MHz): 1467
Frequency (in GHz): 1.47
RAM Usage: 62.1MiB/994MiB - 6% =—
Swap Usage: 0B /OB - 0% ———
CPU Usage: 9%
Processes: 97 Running: 0

ctrl+Q

File systems:

/OB /OB ————
Nethorking (eth0):

Up: 0B - Down: 0B

Name PID CPU% MEM%
conky 1753 6.12 0.94
Xorg 1606 3.06 2.25
leafpad 1876 1.02 1.74
sleep 1929 0.00 0.08

= @ 1 "2 @ lang.conf @ ¢ E & 06:51 PM
DA.CO O i
Fichier Edition Rechercher Options Aide
# Default keyboard layout: =
LAYOUT=fr| 4 4.9 D on i686
0
R 6 B/994MIB - 6% =
0B /0B 0%
ocesses: 9 0
0B 0B e —
etwo eth0
0B Do 0B
e PID
¥ 0 4.08 0.94
org 606 06 O
eep 003 0.00 0.0
eafpad 98 0.00




® *kbd.conf
| Edition Rechercher Options Aide

| 1 Nouveau Ctrl+N |
[= ouvrir... ctrl+0 4MLinux (Linux v. 4.9.52-smp on i686)
[l Enregistrer Ctri+S -
[& Enregistrer sous... Shift+Ctri+S Uptime: Oh 4m 10s
Z - B B Frequency (in MHz): 1467
} g?ﬁﬁzrr?;::ant S Sh'mg::: Frequency (in GHz): 1.47
= RAM Usage: 62.3MiB/994MiB - 6% =—
Swap Usage: 0B /0B - 0% ———
CPU Usage: 12%
Processes: 97 Running: 0

& Quitter ctrl+Q

File systems:

/OB /OB ————
Networking (eth0):

Up: 0B - Down: 0B

Name PID CPU% MEM%
conky 1753 4.12 0.94
Xorg 1606 2.06 2.28
cbatticon-2 1624 2.06 1.42
jwm 1612 1.03 131

(=L @ 1 "I @ *kbd.conf 29 /B08 06:52 PM

ALEFeS " T8A DY

H & Local Time Settings
l‘ iG\}

x

SHORT INTRODUCTION: :Linux v. 4.9.52-smp on i686)

Your clocks will be setup in accordance with the following rules:
--> universal time (UTC) for your hardware clock, hf}m 57s
--> local time for your operating system clock. '(m MHZ): 1467
/1 (in GHz): 1.47
4MLinux will synchronise time with http://pool.ntp.org je: 61.8MiB/994MiB - 6% —
Therefore a working Internet connection is needed to continue (!) ge: 0B /OB -0% ———

e: 9%
: 98 Running: 0

Press Enter if you are ready to proceed, or just close this window to abort. I

ns:

[ —————— |
ig (eth0):

- Down: 0B

PID CPU% MEM%
1753 6.19 0.94
1606 2.06 2.27
2092 0.00 0.08
2084 0.00 0.25

2 [Z]Local Time Settings >4 /A& 06:53 PM



Please identify a location so that time zone rules can be

M = Local Time Settings_

" Please select a continent,

K

|
Hon

1)
2)

’
P

Africa
Americas
Antarctica
Asia

Atlantic Ocean
Australia
Europe

Indian Ocean
Pacific Ocean

ocean,

"coord", or "T2".

coord - I want to use geographical coordinates.
T2 - I want to specify the time zone using the Posix TZ format.
#2 71

Ak RN

set correctly.

‘Linux v. 4.9.52-smp on i686)

h 5m 19s

/ (in MHz): 1467

f (in GHz): 1.47

je: 62.1MiB/994MiB - 6% —
ge: 0B /OB - 0% ———
e: 6%
: 98 Running: 0

ns:
ig (eth0):
- Down: 0B

PID CPU% MEM%
1753 3.03 0.94
1606 2.02 2.27
1622 1.01 248
2128 0.00 0.08

) = e 9 @ 0 2 [E]Local Time Settings
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Ak RN

o X

M & Local Time Settings

8)
9)

Indian Ocean
Pacific Ocean

# 10) coord - I want to use geographical coordinates.
11) TZ - I want to specify the time zone using the Posix TZ format.

#2 7

|
==|Please select a country whose

Hon 1)
2)
3)
4)
5)
6)
7)
8)
9)

10)
11)
12)
13)
14)
15)
16)
17)

Albania
Andorra
Austria
Belarus
Belgium

Bosnia & Herzegovina
Britain (UK)
Bulgaria
Croatia

Czech Republic
Denmark
Estonia
Finland

France

Germany
Gibraltar
Greece

#2 14]]

’
£

Y .“:4Q@“ _

18)
19)
20)
21)
22)
23)
24)
25)
26)
27)
28)
29)
30)
31)
32)
33)
34)

clocks agree with yours.
Guernsey 35)
Hungary 36)
Ireland 37)
Isle of Man 38)
Italy 39)
Jersey 40)
Latvia 41)
Liechtenstein 42)
Lithuania 43)
Luxembourg 44)
Macedonia 45)
Malta 46)
Moldova 47)
Monaco 48)
Montenegro 49)
Netherlands 50)
Norway

2 [ZlLocal Time Settings

Poland
Portugal
Romania
Russia

San Marino
Serbia
Slovakia
Slovenia
Spain
Svalbard & Jan Mayen
Sweden
Switzerland
Turkey
Ukraine
Vatican City
Aland Islands

‘Linux v. 4.9.52-smp on i686)

h 5m 38s

( (in MHz): 1467

¢ (in GHz): 1.47

je: 62.1MiB/994MiB - 6% —
ge: 0B /OB - 0% =———
e: 9%
: 93 Running: 0

ns:
ig (eth0):
- Down: 0B

PID CPU% MEM%
1753 4.08 0.94
1606 3.06 2.27

)1 27 1.02 0.00

k 1627 1.02 0.71

& @ ¢ B ®=—06:53PM




= Local Time Settings -ox
7) Britain (UK) 24) Latvia 41) Slovakia
8) Bulgaria 25) Liechtenstein 42) Slovenia ‘Linux v. 4.9.52-smp on i686)
2. 9) Croatia 26) Lithuania 43) Spain I
10) Czech Republic 27) Luxembourg 44) Svalbard & Jan Mayen h
| 11) Denmark 28) Macedonia 45) Sweden sm 54s
==/12) Estonia 29) Malta 46) Switzerland t (in MHz): 1467
Hon13) Finland 30) Moldova 47) Turkey /1 (in GHz): 1.47
14) France 31) Monaco 48) Ukraine je: 62.1MiB/994MiB - 6% =—
15) Germany 32) Montenegro 49) Vatican City ge: 0B /OB - 0% ———
16) Gibraltar 33) Netherlands 50) &land Islands A

17) Greece 34) Norway ¥ .
#2 14 : 93 Running: 0

The following information has been given: ns:
e —

France q (ethO):
- Down: 0B

Therefore T2='Europe/Paris' will be used.

Local time is now: Tue Nov 14 19:54:03 CET 2017.

Universal Time is now: Tue Nov 14 18:54:03 UTC 2017. PID CPU% MEM%
Is the above information OK? 1753 6.12 0.94
1) Yes 1606 2.04 2.27

2) No 1627 1.02 0.71
w2 , 2178 0.00 0.07
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